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10.2.153  T/R 2: Ok, Alan, now you tried to make it with four orange.  Tell me 

about this model and tell me just what you told me before.   
10.2.154  Alan: Ok, originally I had two oranges, and that was, that would only use 

twenty of the whites, but if you added another two of them on it 
would be forty of the whites. So the whites down here are the 
fortieths. And the purples would take five to use  for the two, and 
another five over here, so that would be the tenths. And now, these, 
if you put two oranges together, the two oranges each would be the 
halves. These would be the twentieths [reds], and the browns would 
be the fifths. Now there should be, I think nineteen more on here to 
complete the fortieths. You can't make the model any bigger than 
this, You would have to use one blue. It wouldn't be the exact size. 
[places five blue rods] So you can't make a model any bigger than 
this, without making a train, making all these uneven. So basically, 
this is the only model you can make that's even without using 
trains, like this one here, that would make  all of these unequal.  

10.2.155  T/R 2: So, if I wanted to continue my train with oranges, you're saying, I 
would have trouble showing   

10.2.156  Alan: Another four, no, another four oranges to fit five more of the 
browns on, so it would be a yard long probably.  

10.2.157  T/R 2: Oh my goodness, can you imagine the size of that? If you wan- if 
you wanted to make a train, though, where you were adding a 
different color rod on the end of this train of four oranges, do you 
think you could come up with other models?  

10.2.158  Alan: Well, it could be, but this is the, basically the only equal  model 
using, you know, tenths twentieths, fortieths. ... for the whole.  

10.2.159          T/R 2: That's interesting, that's really interesting 


